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= Multiple choice items ( Make only one answer for

each item ) 4096 ( 45/ R 44y, Z8EI 14 )

~(1).In a statement of cash floy (indirect rthod),
_a gain on the sale of a long-term investment

should be
a. Deducted from income from continuing opera-
tions.

b. Added to income from continuing operations.
¢. Reported as an inflow and outflow of cash.
d. reported as an outflow of cash.

(2).When the allowance method of recognizing bad debt
expense is used, the entries at the time of coll- °
ection of a small account previously written off
vould
a. Decrease the allowance for doubtful accounts.
b. Increase net income.

c. Have no effect on the allowance for doubtful
account.
d. Have no effect on net income.

(3).The original cost of an inventory item is above
the replacement cost. The replacement cost is ab-
ove the net realizable value. Under the lower of
cost or market method, the inventory item should
be priced at its
a. Replacement cost.

b. Original cost.

c. Net realizable value.

d. Net realizable value less the normal profit
margin.

(4).A company purchased land to be used as the site
for the construction of a plant. Timber was cut
from the building site so that construction of
the plant could begin. The proceeds from the sale
of the timber should be
a. Classified as other income.

b. Netted against the costs to clear the land
and expensed as incurred.

c. Deducted from the cost of the plant.

d. Deducted from the cost of the land.

(5) .Hov would the amortization of premium on bonds pa-
yable affegt each of the following ?

Net income
a. Increase Decrease
b. Increase Increase
c. Decrease Decrease
d. Decrease Increase

(6).0n October 1, 1987, Dean Company leased office sp-
ace at a monthly rental of $30,000 for 10 years e-
xpiring September 30, 1997. as an inducement for
Dean to enter into the lease, the lessor permitted
Dean to occupy the premises rent-free from Oct.ober

1 to bee, ae year ended December
31, 1987, Dean Suwmiw .. _oId rent expense of

a. $0

b. $ 29,250

c. $87,750

d. $ 90,000

(7) .During 1987, Fox Company made the following expend-
iturse relating to plant machinery and equipment:
* A broken gear on a machine was replaced at a cost

of $ 5,000
* Continuing, frequent, and low cost repairs at a
cost of $ 35,000

* Renovation of a group of machines at the cost of
$50,000 to secure greater eff iciency in production
over their remaining five-year useful lives. The

project was completed on December 31, 1987.
What total| amount should be charged to repairs and ma-
intenance fin 1987 ?

a. $ 35,000
b. $ 40,
c. $85,
d. $9%,

@®).0n April 1, 1983, Greg Corp. issued, at 99 plus acer-
ued interest, 200 of its 8%, $1,000 bonds. The bonds
- are dated January 1,1988, mature on January 1,1998,
and pay interest On July 1 and January 1. Greg paid
bond issue costs of $ 7,000. From the bond issuance,

Greg received net cash of
a. $ 202,&

b. $ 198,

c. $ 195,000

d. 191,000 '

(9).0n March 31, 1988, Winn Company traded in an old mach- -
ine having ja carrying amount of $16,800, and paid a cash
difference of $ 6,000 for a new machine having a total
cash price jof $20,500. On March 31, 1988, what amount of
loss should Winn recognize on this exchange 7

a.

b. $2,30
c. $3,700
d. $6,000

(10).Selected information for Cain Corp. for the year ended
December 31, 1987 follows:
% Average days' sales in inventories 124
*  Average| days' sales in accounts receivable 48
‘The average number of days in the operating cycle for
1087 was:

a. 172
b. 124
c. 8
d 76

=, The income sftatement of Haton Company for the current
year ended December 31, 1990 is as follows:

$ 1,030,000
$ 410,000

........

Gross profit ..............
Operating iexpenses:
Depreciation expenses ... $ 31,500
Other operating expenses _ 248.500
Total operating expenses
Income before income tax ... $ 130,000
Income tax

I —(40,000) .
Net income $ 90.000

Changes in the balance of selected accounts from the
beginning to the end of the current year are as follows:

Trade rece vables (net)

........ § (21,000)
Inventories .................... 11,200
Prepaid expenses ............... (1,050)
Accounts payable ............... (17,500)
Accrued operating expenses ... 7,000
Incone tax payable ............. (2,100)

Prepare the| cash flows from operating activities sec-

tion of the statement of cash flow, using the direct me-
thod of presentation. (1595)
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